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AWORD TO MY DEAR STUDENTS

It gives me great pleasure in presenting the Students' Support Material to all
KV students of class XI|I.

The material has been prepared keeping in mind your needs when you are
preparing for final exams and wish to revise and practice questions or when
you want to test your ability to complete the question paper in the time allotted
or when you come across a question while studying that needs an immediate
answer but going through the text book will take time or when you want to
revise the complete concept or idea in just a minute or try your hand at a
question from a previous CBSE Board exam paper or the Competitive exam to
check your understanding of the chapter or unit you have just finished. This
material will support you in any way you want to use it.

A team of dedicated and experienced teachers with expertise in their subjects
has prepared this material after a lot of exercise. Care has been taken to include
only those items that are relevant and are in addition to or in support of the text
book. This material should not be taken as a substitute to the NCERT text book
but it is designed to supplement it.

The Students' Support Material has all the important aspects required by you; a
design of the question paper, syllabus, all the units/chapters or concepts in
points, mind maps and information in tables for easy reference, sample test
items from every chapter and question papers for practice along with previous
years Board exam question papers.

| am sure that the Support Material will be used by both students and teachers
and | am confident that the material will help you perform well in your exams.
Happy learning!

W o

Santosh Kumar Mall
Commissioner, KVS



FOREWORD

The Students' Support Material is a product of an in-house academic exercise
undertaken by our subject teachers under the supervision of subject expert at
different levels to provide the students a comprehensive, yet concise, learning
support tool for consolidation of your studies. It consists of lessons in capsule
form, mind maps, concepts with flow charts, pictorial representation of
chapters wherever possible, crossword puzzles, question bank of short and long
answer type questions with previous years' CBSE question papers.

The material has been developed keeping in mind latest CBSE curriculum and
question paper design. This material provides the students a valuable window
on precise information and it covers all essential components that are required
for effective revision of the subject.

In order to ensure uniformity in terms of content, design, standard and
presentation of the material, it has been fine tuned at KVS Hqrs level.

| hope this material will prove to be a good tool for quick revision and will
serve the purpose of enhancing students' confidence level to help them perform
better. Planned study blended with hard work, good time management and
sincerity will help the students reach the pinnacle of success.

Best of Luck.

U.N. Khaware
Additional Commissioner (Acad.)
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CBSE CURRIULUM

ECONOMICS
CLASS Xl
(2019-20)

Theory: 80 Marks 3 Hours
Project: 20 Marks
Units Marks Periods
Part A | Introductory Macroeconomics

National Income and Related Aggregates 10 28

Money and Banking 6 15

Determination of Income and Employment 12 27

Government Budget and the Economy 6 15

Balance of Payments 6 15

40 100

Part B | Indian Economic Development

Development Experience (1947-90) 12 28

and Economic Reforms since 1991

Current Challenges facing Indian Economy 22 60

Deyelopment Experience of India — A Comparison with 06 12

Neighbours

Theory Paper (40+40 = 80 Marks) 40 100
Part C | Project Work 20 20
Part A: Introductory Macroeconomics
Unit 1: National Income and Related Aggregates 28 Periods

What is Macroeconomics?

Basic concepts in macroeconomics: consumption goods, capital goods, final goods,
intermediate goods; stocks and flows; gross investment and depreciation.

Circular flow of income (two sector model); Methods of calculating National

Income - Value Added or Product method, Expenditure method, Income

method.
Aggregates related to National Income:

Gross National Product (GNP), Net National Product (NNP), Gross and Net
Domestic Product (GDP and NDP) - at market price, at factor cost; Real and

Nominal GDP.
GDP and Welfare



Unit 2:

Unit 3:

Unit 4:

Unit 5:

Money and Banking 15 Periods
Money - meaning and supply of money - Currency held by the public and net

demand deposits held by commercial banks.

Money creation by the commercial banking system.

Central bank and its functions (example of the Reserve Bank of India): Bank
of issue, Govt. Bank, Banker's Bank, Control of Credit through Bank Rate,
CRR, SLR, Repo Rate and Reverse Repo Rate, Open Market Operations,

Margin requirement.

Determination of Income and Employment 27 Periods
Aggregate demand and its components.

Propensity to consume and propensity to save (average and

marginal). Short-run equilibrium output; investment multiplier

and its mechanism. Meaning of full employment and

involuntary unemployment.

Problems of excess demand and deficient demand; measures to correct them
- changes in government spending, taxes and money supply.

Government Budget and the Economy 15 Periods

Government budget - meaning, objectives and components.

Classification of receipts - revenue receipts and capital receipts; classification

of expenditure — revenue expenditure and capital expenditure.

Measures of government deficit - revenue deficit, fiscal deficit, primary deficit

their meaning.

Balance of Payments 15 Periods
Balance of payments account - meaning and components; balance of payments
deficit- meaning.

Foreign exchange rate - meaning of fixed and flexible rates and

managed floating. Determination of exchange rate in a free market.



Part B: Indian Economic Development

Unit 6: Development Experience (1947-90) and Economic Reforms since 1991:

28
Periods A brief introduction of the state of Indian economy on the eve of

independence. Common goals of Five Year Plans.

Main features, problems and policies of agriculture (institutional aspects and
new agricultural strategy, etc.), industry (industrial licensing, etc.) and foreign
trade.

Economic Reforms since 1991:

Features and appraisals of liberalisation, globalisation and privatisation

(LPG policy); Concepts of demonetization and GST

Unit 7: Current challenges facing Indian Economy 60
Periods Poverty- absolute and relative; Main programmes for poverty alleviation: A
critical assessment;

Rural development: Key issues - credit and marketing - role of cooperatives;
agricultural diversification; alternative farming - organic farming

Human Capital Formation: How people become resource; Role of human
capital in economic development; Growth of Education Sector in India
Employment: Formal and informal growth; problems and policies.
Infrastructure: Meaning and Types: Case Studies: Energy and Health:
Problems and Policies- A critical assessment;

Sustainable Economic Development: Meaning, Effects of Economic Development
on Resources and Environment, including global warming.

Unit 8: Development Experience of India: 12 Periods
A comparison with
neighbours India and
Pakistan
India and China
Issues: growth, population, sectoral development and other Human
Development Indicators.

Part C: Project in Economics 20 Periods

Prescribed Books:

1. Macroeconomics, NCERT



2. Indian Economic Development, NCERT
3. Supplementary Reading Material in Economics, CBSE

Suggested Question Paper
Design Economics (Code No.
030)

Class XI1 (2019-20)

March 2020 Examination
Marks: 80 Duration: 3
hrs.

Objective Short Short Long
SN Typology of Questions Type/ MCQ | Answerl | Answerll | Answer
1 Mark 3 Marks 4 Marks 6 Marks

Marks

Remembering: Exhibit memory
of previously learned material by
recalling facts, terms, basic
concepts, and answers.

22

Understanding: Demonstrate
understanding of facts and ideas
by organizing, comparing,
translating, interpreting, giving
descriptions, and stating main
ideas

22

Applying: Solve problems to new
situations by applying acquired
knowledge, facts, techniques and
rules in a different way.

18

Analysing and Evaluating:
Examine and break information
into parts by identifying motives
or causes. Make inferences and
find evidence to  support
generalizations.

Present and defend opinions by
making judgments about
4 information, validity of ideas, or| 5 1 1 1
quality of work based on a set of
criteria.

Creating: Compile information
together in a different way by
combining elements in a new
pattern or proposing alternative
solutions.

18

Total 20x1=20 | 4x3=12 6x4=24 4x6=24

80 (34)

There will be Internal Choices in questions of 1 mark, 3 marks, 4 marks and 6 marks
in both sections (A & B). In all, total 8 internal choice




Guidelines for Project Work in Economics (Class Xill)

The gbjectijves of the project work are to enable learners to:

o probe deeper into theoretical concepts learnt in classes X1 and XII

o analyse and evaluate real world economic scenarios using theoretical constructs and
arguments
o demonstrate the learning of economic theory

o follow up aspects of economics in which learners have interest

develop the communication skills to argue logically The

expectations of the project work are that:

learners will complete only ONE project in each academic session
project should be of 3,500-4,000 words (excluding diagrams & graphs), preferably hand-
written

it will be an independent, self-directed piece of study

Roleof the teacher :

The teacher plays a critical role in developing thinking skills of the learners. Ateacher should:

help each learner select the topic based on recently published extracts from the news
media, government policies, RBI bulletin, NITI Aayog reports, IMF/World Bank reports
etc., after detailed discussions and deliberations of the topic

play the role of a facilitator and supervisor to monitor the project work of the learner
through periodic discussions

guide the research work in terms of sources for the relevant data

educate learner about plagiarism and the importance of quoting the source of the
information to ensure authenticity of research work

prepare the learner for the presentation of the project work

arrange a presentation of the project file

Scope of the project:
Learners may work upon the following lines as a suggested flow chart:

Choose a title/topic
Collection of the research
material/data

Organization of



material/data
Present
material/da*a

Analysing the material/data for
conclusior{

Draw the relevant
conclusion Presentation of

the Project Work
Expected Checklist:

¢ Introduction of topic/title
¢ ldentifying the causes, consequences and/or remedies
e Various stakeholders and effect on each of them

e Advantages and disadvantages of situations or issues identified

Short-term and long-term implications of economic strategies
suggested in the course of research
o Validity, reliability, appropriateness and relevance of data used
for research work and for presentation in the project file
e Presentation and writing that is succinct and coherent in project file

e Citation of the materials referred to, in the file in
footnotes, resources section, bibliography etc.
Mode of presentation/submission of the Project:

At the end of the stipulated term, each learner will present the research work in the
Project File to the External and Internal examiner. The questions should be asked
from the Research Work/ Project File of the learner. The Internal Examiner
should ensure that the study submitted by the learner is his/her own original
work. In case of any doubt, authenticity should be checked and verified.

Marking Scheme :
Marks are suggested to be given as —

S. No.| Heading Marks Allotted

1. Relevance of the topic 3




2. Knowledge Content/Research 6
Work

3. Presentation Technique 3

4. Viva 8
Total 20 Marks

SAMPLE PAPER -1

ECONOMICS CLASS XII

SOLVED

PART-A

INTRODUCTORY MACRO ECONOMICS

Name of the chapter
1 mark 3 4 marks | 6 marks | Total Marks
marks
1.National income and
Related Aggregates 1(2) 13) | ----- 1(6) 3(10)
2.Money and Banking 20 | ----- 1(4) -—-- 3(6)
3.Determination of income | 3(1) 1(3) 1(6) 5(12)
and employment
4. Govt. Budget 2(1) ---- 14 | - 3 (6)
5.Balance of Payment 2(1) ---- 1(4) ---- 3(6)
Total 10(1) 2(3) 34) 2(6) 17
=10 =6 =12mar | =12ma | Questions
marks marks | ks rks =40 marks
PART-B  INDIAN ECONOMIC DEVELOPMENT
6.Developmental 2(1) 1(4) 1(6) 4(12)
Experience (1947-1990)I
7.Current challenges facing | 6(1) 2(3) 1(4) 1(6) 10(22)
by Indian Economy
8.Development experience |2(1) | --—--- 14) | ----- 3(6)
of India-A comparison with
neighbours
Total 10(1) 2(3) 34) 2(6) 17
=10 = =12 =12 Questions
marks marks | marks marks =40 marks
Grand Total 20x1=20 |4x3=1 |6x4=24 |4x6=24 |34
2 questions
=80 marks




Note: There will be internal choices in questions of 1 mark, 3marks ,4marks and 6
marks in both sections(Aand B).In all total 8 internal choices. The figure outside
the bracket indicates no. of questions and figure inside the bracket indicates marks.

**k*

SAMPLE QUESTION PAPER -1

CLASS-XI1

MAX.MARKS: 80

SUB: ECONOMICS TIME: 3HRS
INSTRUCTIONS:

1. All questions in both sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question no. 1-10 and 18-27 are very short answer question

Carrying 1 mark each . They are required to be answered in one sentence.

4. Question no. 1-12 and 28-29 are short answer question

Carrying 3 marks each . Answer to them should not normally exceed 60
words .
5. Question no. 13-15 and 30-32 are also short answer questions
Carrying 4 marks each . Answer to them should not normally exceed 80
words .
6. Question no. 16-17 and 33-34 are long answer questions carrying 6 marks
each Answer to them should not normally exceed 100 words each.
SECTION A
1. Which of the following is a stock variable ? 1
a) Interest on capital c) expenditure of money
b) Distance between Goa and Hyderabad d) All of the these.
2. What items are not included in M1 measure of money supply ? 1
a) Currency and coins with publicc)Other deposits with RBI
b) Inter-bank deposits d) Net demand deposits with banks.
3. What is Repo rate ? 1
(OR)
What is reverse repo rate ?

4. Break-even point is achieved when 1
a)National income = consumption b) consumption=investment
¢)Consumption= saving d) national

income>consumption

5. Which of the following can have a negative value ? 1

a) APC b) MPC c) MPS d) APS



6. When actual aggregate demand exceeds the aggregate demand required for
full employment what will you call that situation ? 1
7. Escheats is an example of : 1
a) Capital receipt c)revenue receipt
b) Capital expenditure d) revenue expenditure
8. In a government budget primary deficit is Rs. 10,000 cr and interest
payment is Rs. 8 000 cr . How much is fiscal deficit? 1
9. Export and import of goods is also known as: 1
a) Invisible trade c) one sided transaction
b)  Visible trade d) unrequited remittances
10.Devaluation of currency means : 1
a) Reduction in the value of domestic currency by the market forces
b) Reduction in the value of domestic currency by the government
C) Both (a) and (b)
d) Neither (a) nor (b)
11.Distinguish between intermediate goods and final goods. 3
12.Define investment multiplier. Explain the relationship between Marginal
propensity to consume and multiplier .
(OR)
Bring out the concept of break-even point with the help of consumption
or Income curve.
13. Explain how the commercial bank creates credit money ? 4
14. Distinguish between; 4
a) Capital receipts and revenue receipts
b) Directtax and indirect tax

(OR)

Explain any two objectives of government budget:
15. Explain the components of current account of Balance of Payments.
4
16. From the following data estimate (a) NNP at market
price by Expenditure
method and GNP at market price by Income
method.



Sl ltems Rs. Incr
No

I Compensation ofemployees 800
ii. Undistributed profits 20
lii Private final consumption 1000

expenditure
v Rent 300
\ Dividend 200
Vi Govt. final consumption expenditure 300
Vii | Royalty 40
Viii  Gross Domestic Fixed capital 500
formation

IX Corporation tax 50
X Inventory investment 200
Xi Interest 400
Xii Exports 100
Xiii | Depreciation 70
Xiv | Net imports (-) 40
Xv | Netincome received from abroad (-) 10
Xvi | Net Indirect tax 60

17. How are following used to correct excess demand and deficient demand?
a) Bank rate
b) Open market operations
c) Governmentexpenditure

(OR)

(3x2)

Explain the equilibrium level of income and employment with the help
of savings and investment curves.

SECTION B

18. When was planning commission established?
a) 1947 Db)1948 «c¢) 1950 d) 1951

19. Public sector enterprises are driven largely by consideration of : 1
b) social welfare c¢) either (a) or (b) d) none of these

a) Profit

20.In India absolute poverty is measured with reference to:

1

a) Poverty line b) GDP c) per-capita income d) unemployment




b) The stock of skill and expertise of a nation at a point of time is known as:

1
a)Social infrastructure b) human capital c) physical capital d) None of
these.
21. NREGA stands for : 1
22. Which type of unemployment is found in agricultural sector ? 1
a) Disguised unemployment c¢) structural unemployment
b) Industrial unemployment d) educated unemployment

23. Under which infrastructure transport, banking and irrigation fall? 1
24.Which of the following is considered as non-conventional energy ? 1
a) Solarenergy b) windenergy c) bio-mas d) all of these

25.The number of people who are able to work and willing to work at
The existing wage rate is known as : 1
a) Labour force b) work force ¢) labour supply d) participation rate.
26. Two major environmental issues facing world today are ----------

And 1
27. Distinguish between physical capital and human capital 3
28. Can energy crisis be overcome with the use of renewable sources 3
Of energy ?
(OR)

Give any four factors responsible for land degradation.
29. What measures have been taken under Liberalisation (any four)
4
(OR)
What is privatization and explain steps taken toward it ?
30. Explain any four sources of human capital formation . 4
31. Explain the Great Leap Forward campaign of China as initiated in 1958.

32. What is green revolution ? How is it benefitted to farmers ? 6
(OR)
Explain ‘growth, equity and self — reliance * as long term economic Planning

33. Critically analyses any three anti-poverty programmes . 6

*kkkkk



ANSWER KEY - SAMPLE PAPER 1

Q NO  VALUE POINTS MARK
S
1 (b) Distance between Gao and Hyderabad 1
2 (b) Inter=bank deposits 1
3 The rate at which the Central bank lends short 1
term loans to commercial banks (OR)
The rate at which the banks parks their surplus
funds with RBI
4 (C) National income = consumption 1
5 (c) APC 1
6 Excess demand or inflationary gap 1
7 (c) Revenue receipt 1
8 Primary deficit =  fiscal deficit — interest 1
payments
10 000 = Fiscal deficit — 8000
Fiscal deficit = primary deficit + interest
payment
=10 000 + 8 000 =18 000
cr
9 Visible trade 1
10 (b) Reduction in the value of domestic |1
currency by the Government
11 Intermediate good: meant for either resale or |1
further production
Final good: meant for either consumption or
capital formation
12 Multiplier refer to the change in National 1
income due to change in investment
13 Credit creation by the banks is determined by (i) the | 4

amount of initial deposits and ii) the legal reserve ratio
(LRR). It is assumed that all the money that goes out of
banks is redeposit into the banks, and LRR consists of CRR
& SLR.

An lllustration to explain the process of credit creation:

Let the LRR be 20% and there is a
Fresh/Primary/Initial/Deposit Account of Rs 10000. The
banks keep 20% ie Rs 2000 as cash and lend the
remaining Rs 8000 to a borrower by opening a new
account, called as Loan/Secondary/Derived Account.




Here we assume that all the banking transactions will be
through monetary instruments viz cheques etc.
Total credit creation = Initial deposit X 1/LRR

ROUNDS | INITIAL DEPOSIT | LRR SECONDARY DEPOSIT
1 10000 2000 8000

2 8000 1600 6400

TOTAL | 50000 10000 40000

Total credit creation = Initial deposit X 1/LRR
= 10000 X 1/20% = 10000 X 100/20 = Rs 50000

14

a) Capital receipts: Receipts which either
create liability or reduce asset
Revenue receipt: Receipts which neither
create liability nor reduce asset

b) Direct taxes are those taxes for which
incidence of burden cannot be shifted
Indirecttaxes are the taxes for which
incidence of burden can be shifted.

(OR)
a) Re-allocation ofresource
b) Reduction of inequalities ( or any other
two points with explanation)

15

Components of Current account of Balance of
payments:

a) Net export of visible items

b) Net export of invisible items

c) Net income from property and
entrepreneurship abroad

d) Unrequited remittance (unilateral
transfers (net))

16

Sol EXPENDITURE Method:

1) GDP mp= Private Final consumption
expenditure + Govt. final consumption
exp.

+ Gross capital formation + Net
exports
= 1000+ 300 + (500+200)+
40
Rs. 2
GDP mp — Dep + NFIA
2140—-70 + (-10)

2) NNP mp

3+3




2060

(Note: Net imports
means Net exports 40)
INCOMEMETHOD

1) NDP fc

= compensation

(-)40

of employees

+ operating surplus + Mixed income

800 +

(300+40+400+200+20+50+0)
= 1810
2) GNP mp = NDPfc+dep + NIT+NFIA

=1810+70+60+ (-)10
=Rs. 1930cr.
17 INSTRIIMENT EXCESS DEMAND DEFICIENT DEMAND
Bank rate Should be raised | Should be reduced by
by RBI RBI
Open market operations | RBI  sells  to | RBI buys from 2492
member banks member banks o
Govt.expenditure | To be controlled | Govt. should increase
by the Gowt. its expenditure
(OR)
According to Keynes means equilibrium levels of income
and employment is it determined by the equality between
saving and investment (ex-ante).
1:’1 g Infome &|Employjment
& s
o S&I /
N ,
1
,‘E
P2
18 (C) 1950 1
19 (b) social welfare 1
20 (c) per-capita income 1
21 (b) human capital 1
22 National Rural Employment Guarantee 1
Programme
23 (a) Disguised unemployment 1
24 Economic infrastructure 1
25 (d) all of these 1
26 (a) Labour force 1




27

a) Pollution
b) Excessive exploitation of resources

28

| PHYSICAL CAPITAL | HUMAN CAPITAL |

It is a tangible good It is intangible good

Can be separated | Cannot be separated
from the owner from owner

Can be moved from |It is not perfectly
one place to another | mobile
place

can be increased by |Can be built with
imports proper planning and
skill development

29

a) Presently more consumption than
production

b) Renewable  energy can be replenished
quickly

C) Costeffective

d) Unlimited in supply (or any other related point)
(OR)

a) Encroachmentinto forest lands

b) Due to deforestation , there will be loss of
vegetation

C) Shifting cultivation causes loss of fertility

d) Extensive use of fertilizers and pesticides
(Or any other
valid points)

30

a) Abolishing of industrial licensing system
b) Amendmentto MRTP Act
c) Reducing the role of RBI
d) Rationalisation of taxes (or any other
measures)
(OR)
Privatisation: opening of the economy to
the private sector.
Measures: a) Reduction of major industries
of the Govt.
b) Disinvestment of public sector
(or any other related point)




31

Four sources of Human capital formation:
a) Expenditure on education
b) Expenditure on health
c) Expenditure on the job-training
d) Expenditure on migration

32

The Great Leap Forward (GLF) was a campaign
initiated by China in 1958.
e To initiate large scale industrialization in
both rural and urban areas
e Encouraged urban people to set up
industries in their backyards
e Under Commune system, people were
encouraged in collective farming

33

Green revolution refers the large scale

production of food grains, pulses etc., due to

introduction of fertilizers and agricultural.

Technology.

Benefits: a) Achieved self-sufficiency in the

production of food grains b) farmers’ incomes

haveincreased

(c) extensive credit facilities are made

available to the farmers. (or any other point)
(OR)

GDP is indicator of growth. It means the

increase of country’s capacity to produce goods

and services

Equity: It means equal opportunities to all the
section of society.

The fruits of the economy should not be limited
to only rich people. Gender equation should be
achieved.

Self-reliance: It should be achieved by import
substitution. Reduction of imports of food
grains. Producing with in the domestic
economy the goods which are imported till now.

34

Anti-poverty program:
1. *Self-Employment Programmes
e Rural Employment Generation

Programme (REGP)




e Prime Minister

(PMRY)
e Swarna Jayanti Shahri Rozgar
Yojana

(SJSRY)
e Swarnjayanti

Rozgar Yojana

Gram

Swarozgar Yojana (SGSY)
2. Wage Employment Programme

e Sampoorna Grameena

Rozgar Yojana (SGRY)
e National Food for Work Programme

(NFFWP)

6
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1 1 1
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Unit -2: Money & Banking 2 1 06
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2

ECONOMICS (2019-20)
TIME: 3 HRS CLASS : XlI
M.MARKS: 80

Instructions:

() All questions in both the sections are compulsory,

(i) Marks for questions are indicated against each.

(iii) Questions no 1-10and 18-27are very short answer questions carrying 1 mark
for each part are required to be answered in one sentence each.

(iv) Questions no 11-12 and 28-29 are short answers questions carrying 3 marks
are required to be answered not exceed 60 words each.

(v) Questions no 13-15 and 30-32 are also short answer questions carrying
4 marks are required to be answered not exceed 70 words each.

(vi Questions no 16-17 and 33-34 are long answers guestions carrying 6 marks
each are required to be answered not exceed 100 words each.

(vii) Answer should be brief and to the point and the above word limits be adhered
to as for as possible.

SECTIONA: Macro Economics

Q.N Question Mar
o] ks




Borrowing in government budget is:

a) revenue deficit b) fiscal deficit c) primary
deficit

d) deficit in taxes

State the two components of M1 measure of money
supply

Define stocks.

The percentage of demand deposits which the
commercial banks are legally required to maintain
as their liquid assets is called:

a) CRR b) Repo Rate <c¢)SLR d) Reverse
Repo Rate

Which of the following is not the instrument of
credit control?

a) CRR b) SLR c¢) Bank Rate d) Managed
floating

Give the meaning of balance of trade. ( OR)
Give the meaning of Balance of Payment

What is primary deficit?

The non-tax revenue in the following is (choose the
correct alternative):

a) export duty b) import duty c) dividends d)
excise

Which of the following does not come under
quantitative methods of monetary policy?
a)Open market operations b) Cash Reserve
Ratio

c) Mora suasion d) Repo Rate

10

Balance of trade is a part of:
a) current account BOP  b) capital account BOP
c) Official reserves account d) none of these

11

Explain the concepts of intermediate goods and
final goods. Give example each one.

12

Giving reason, categories the following into
revenue expenditure and capital expenditure:
i) Subsidies i) Grants given to state




governments

ii) Repayment of loan (OR)

Is the following a revenue receipts or a capital
receipts in the context of government budget and
why?

I) Tax receipts i) Disinvestment

13

Classify the following goods into intermediate
goods and final goods:

i) Milk purchased by a household

i) purchase of rice by a grocery shop

Iil) purchase of an air conditioner for use in shop
iv) Cloth used for making a sofa-set by the
carpenter

14

Explain how open market operations are helpful in
controlling credit creation. (OR)
Explain the process of credit creation by
commercial banks.

15

In an economy, an increase in investment by Rs.
100 crore led to ‘increase’ in national income by Rs
1000 crore. Find marginal propensity to consume.

16

In an economy planned investment exceeds
planned savings. How will the equality between
the two be achieved? Explain.

(OR)
Explain the theory of determination of equilibrium
level of output and income with the help of
aggregate demand and aggregate supply curves.

17

From the following information, calculate Gross
National Product at Factor Cost by (a) Income
method and (b) Expenditure method:
ltems:
Rs. Crore
1) Net factor income from Abroad 5
i) Compensation ofemployees 150
ii) Net domestic capital formation 50
iv) Private final consumption expenditure 220

(3.3)




v) change in stock 15

vi) Consumption of fixed capital 15

vii) Interest 40

viii) Net exports (-) 5

iX) Net Indirect taxes 20

X) Govt. final consumption expenditure 85
xi) Profit 100

SECTION-B:INDIANECONOMICDEVELOPMENT

18 Define plan? 1
19 What is subsistence? 1
20 Define devaluation? 1
21 Define poverty line? 1
22 | The responsibility of direction and control of higher
education is with:
a) Govt. of India b)Department of Higher 1
Education
c) University Grants Commission d) none of these
23 | What is jobless growth? (OR)
What it is called, Labour Force minus (-) Workforce 1
a) Unemployed b) supply of labour ¢)
Total population
d) Participation rate
24 | Which of the following is considered as social 1
infrastructure?
25 | What is the main difference between economic
developmentand sustainable development? 1
26 | Which of the following is an essential indicator of 1
good health?
a) Low death rate b) High expectancy of life
c) Low infant mortality rate  d) All of these
27 | InIndia, absolute poverty is measured with 1




reference to:
a) Poverty line b) GDP
c)Per capitaincome d)Unemployment

28

What is inward looking trade policy? How is it
relevant in the context of growth and
development?

(OR)
Why were reforms introduced in India?

29

What factors contribute to human capital
formation?

30

31

Differentiate between commercial and non
commercial sources of energy.

What similar developmental strategies have India
and Pakistan followed for their respective paths?

32

Give an outline of the strategy of development
adopted by China and India

33

What is meant by globalization of the economy?
State the measures adopted by the government to
promote globalization.

(OR)

Distinguish between the following:

1) Strategic and Minority sale.

i) Bilateral and Multilateral trade.

i) Tariff and Non-tariff barriers

34

What is sustainable development? Outline the
steps involved in attaining sustainable
developmentin India?

(2 +4)

TIME: 3HRS
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CLASS : Xl

M.MARKS: 80

Instructions:

(D)

All questions in both the sections are compulsory,

(i) Marks for questions are indicated against each.




(iii) Questions no 1-10and 18-27are very short answer gquestions carrying 1 mark
for each part are required to be answered in one sentence each.

(iv) Questions no 11-12 and 28-29 are short answers questions carrying 3 marks
are required to be answered not exceed 60 words each.

(v) Questions no 13-15 and 30-32 are also short answer questions carrying4
marks are required to be answered not exceed 70 words each.

(vi Questions no 16-17 and 33-34 are long answers questions carrying 6 marks
each are required to be answered not exceed 100 words each.

(vii) Answer should be brief and to the point and the above word limits be adhered
to as for as possible.

SAMPLE PAPER -3
1. National income is concept 1
a) Stock b) final c¢) intermediate d) flow

2. Which of the following agency is responsible for issuing Re.1 currency note
in India? 1
a)Reserve Bank of India b) Banking Association
c).Ministry of Finance d) Niti Aayog
3. Define Margin requirement.
(or)
What is Cash Reserve Ratio
4. Full employment implies absence of 1

a) Voluntary unemployment b) Involuntary
unemployment
c). unemployment d) None of
the above

5. When MPC is zero, then K is : 1
a) 1 b) O c) infinity d) none of these
6. When actual aggregate demand falls short of the
aggregate demand required for
Full employment level, what do you call situation?

(or)
Define money multiplier 1
7. What is reverse repo rate ? 1
8. Export and import of services is known as:
a) Invisible items b) unrequited remittances
c).Visible items d) Bilateral payments

9. Depreciation of currency means: 1



a) Reduction in the value of domestic currency by the
market forces
b) Reduction in the value of domestic currency by the
Government
C) Both (a) and (b)
D) Neither (a) nor (b)
10. The central bank issues appeals to the commercial banks
through 1
a) Open Market operation b) Moral suasion c¢) Bank
rate d) CRR
11. Distinguish between consumer goods and capital goods.
3
12.Explain any three fiscal measures to control deflationary
gap. 3
(OR)
Distinguish between Average propensity to consume and
Average propensity to save . What is the relation between
two?

13. If the legal reserve ratio is 20% and depositis Rs. 1000 .
Explain the process of credit creation by the commercial banks.

4
14. Distinguish between :
a) Capital expenditure Revenue expenditure
b) Fiscal deficit and Primary deficit
(OR)
Give any four items of Non-tax revenue 4

15.a) What is appreciation of currency and give its impact on
exports ?
b) What is depreciation of currency and give its impact on
imports ?

16. From the following data calculate (a) Gross Domestic Product at factor cost

(b) Factor income to abroad 6
Items (Rupees in cr)

) Compensation of employee 1 000

i)  Profits 200

iii)  Dividend 80

iv)  Gross national product at market price 1 800



V) Rent 250

vi)  Interest 200
vii)  Gross domestic capital formation 300
viii) Net fixed capital formation 200
ixX)  Change in stock 50
X) Factor income from abroad 80
xi)  Net indirect taxes 120
17. Explain Keynesian theory of income and employment . 6
or

An increase of Rs. 250 crore in investment in an Economy, resulted in total
increase in income of rs.1,000 crore. Calculate the following:

a. Value of investment multiplier

b. Change in savings

c. change in consumption expenditure

d. Marginal propensity to consume.

SECTION B: INDIAN ECONOMIC DEVELOPMENT

18. TISCO is: 1

a) Tata Iron and Steel Company b) Titan Iron and
Steel Company

c).Tata Industry and steel company d) Telecom, iron
and steel company

19. In a socialist economy: 1

a) All economic decisions taken by the central authority
b) All the economic decisions taken by Private enterprises
c) Economic decisions taken by both private and public
sector
d) None of the above.

20. Under we remove tariff, subsidies on the flow
of goods and 1
Services between counties

a) Globalisation b) liberalization c) privatization d)
disinvestment

21) Which of the following is not the source of Human capital
formation ? 1



a) Education b) saving c¢) Health d)
Information

22) Percentage of education cess levied on all Union taxes is :
1
a) 4% b) 3% c) 2% d) 1%

23) Define Worker Participation Rate.

(OR)
What is meant by job less growth ?

24) In 1997,the UN conference on climate change was held in:
a) Japan b) India c) Germany d) China

25) Which of the following is a programme for the launch for
elderly people ?

a) Public Distribution System b) Pradhan Mangri
Grameena SadakYojana
c) Social assistance Programme d) National

Food for Work Programme

26) Define rural development

27) National Bank for Agriculture and Rural
Development (NABARD) establishedin

28) Explain any three sources of human capital formation 3
(OR)
Write a short note on ‘Global Burden Deceases
29) The central and State governments take many initiatives and
generate employment. What
Are the social and economic values associated with
employment generation ? 4

30) Explain main causes of poverty in India 4
(OR)
Explain any two long —term objectives of economic planning

31) Explain the steps that have been taken towards
Liberalisation. 4



32) What is Organic farming and how are the farmers
benefited from it?

4
33) How did Green revolution benefited the farmers? Also give
its advantages. 6

(OR

34) Why was public sector given a leading role in
Industrial development during the Planning period.
Compare and contrast the development of India, China and
Pakistan with respect

to the indicators of Human Development Index 6



PART 1 -Introductory Macroeconomics

ECONOMICS

IMPORTANT FORMULAE
UNIT V: NATIONAL INCOME ACCOUNTING

GVO=IC+CFC+NIT+CE+0S+
MISE
= Sales + Change in Stock
= (Domestic Sales + Exports) + (Closing Stock — Opening Stock)

= VO in Primary Sector + VO in Secondary Sector + VO in Tertiary Sector
= Sales + Change in Stock - IC

= NDP +CFC
MP
=NDP + NIT+CFC
F

C
=NNP —-NFIA+ NIT + CFC
F

C
=NNP -NFIA+ CFC
MP
=(VOiINnPS+VOinSS+VOiInTS)-(ICinPS+ICinSS+ICinTS)
NDP =GVO-IC-CFC-NIT

FC

=GDP -CFC-NIT
M
P
=GDP -CFC
F
C
=NNP —NFIA
F

C
=CE+OS+MISE
=GNP -CFC-NFIA-NIT

M
P
NNP /NI=GVO-IC-CFC-NIT+NFIA
FC
=GDP -CFC-NIT + NFIA
M

P
=GNP -CFC-NIT
MP
= NDP + NFIA
FC
= (CE +0S + MISE) + NFIA
i) Value of Output & Value Added (Domestic Product) is the presence of IC in the former &
absence of IC in the latter. GVO=GDP +IC; GDP =GVO-IC
MP MP
ii) ross Domestic Product (GDP) & Net Domestic Product (NDP) is the presence of CFC in
the former & absence in the latter. GDP = NDP + CFC; NDP = GDP - CFC
iii) Market Price (MP) & Factor Cost (FC) is the existence of NIT in the former & absence in the

latter.
GDP =GDP +NIT; GDP =GDP -NIT

MP C FC MP



iv) National& Domestic Product is the existence of NFIA in the former & absence in the latter.

NDP = NNP

— NFIA; NNP

FC FC
GDCF=NDCF + CFC
Or GDCF = NDFCF + CFC + Change in stock.

FC FC

=NDP + NFIA

METHODS TO MESSURE NATIONAL INCOME

VALUE ADDED METHOD

!

INCOME METHOD

EXPENDITURE METHOD

GVO =VO ps+ Voss + VO ts
=SALES + CHANGE IN STOCK
=IC + CFC + NIT+COE+OS+MISE

NVAfc / NDPfc/DIl=
COE + OS +MISE

GDPmp=C + 1+ G+ (X-M)

!

GVAmMp=GVOmp-1C

!

NVAmMp =GVAmp-CFC

!

NNP fc =NVAmMp-NIT

!

NNP fc / NI = NVATfc + NFIA

!

NDP mp = GDP mp - CFC

!

NDP fc = NDP mp — NIT

!

NNP fc / NI = NDP fc + NFIA

RELATED AGGREGATES OF NATIONAL INCOME

NATIONAL INCOME /
NNP fc

i -NFIA

+NIT

NNP mp
—>

NDP @ fc OR DOMESTIC INCOME

+NCTFROM
ROW

—»

+CFC
e

GNDI

NNDI

- (INCOME FROM GOVT ADMINISTRATIVE DEPARTMENTS +
SAVINGS OF NON DEPARTMENTAL ENTERPRISES



Methods to measure National Income:

1. Value Added Method: NNPfc = Sales + Change in Stock — IC — Depreciation — Net
Indirect Tax + Net Factor Income from Abroad.
Sales = Price X Output; Change in Stock = Closing stock — Opening stock; NIT = Indirect
Tax — subsidies; NFIA = Factor Income from Abroad — Factor Income to Abroad

2. Income Method: NNPfc = Compensation of employees + Operating Surplus + Mixed
Income + NFIA
COE = Wages & salary + Employers contribution to social security scheme
Operating Surplus = Rent + Interest + Royalty + Profit

3. Expenditure Method: NNPfc = Private final consumption expenditure + Govt. final
consumption expenditure + Gross domestic capital formation + Net Exports — Depreciation
— Net Indirect Tax + NFIA
ECONOMICS
Basic Rules: 1. Gross — Net = Depreciation; 2. Market Price — Factor Cost = Net Indirect Tax;

3. National Product — Domestic Product = NFIA; 4. Value of Output — Intermediate cost =
Value added

UNIT VI: MONEY & BANKING
Money Supply (M) = Currency held with general public (C) + Demand deposits of general
public held by the Commercial Banks(DD)
M1= C + DD + OD(Other Deposits held by RBI; M2= M1 + Savings deposits of POSB. M3 =
M1 + Net time deposits of Banks; M4= M3+ Deposits of Post Office Saving Organization
Credit multiplier(K) = 1/Legal Reserve Ratio X 100; Total Initial Deposit = K X Initial
Deposit
UNIT VII: THEORY OF INCOME DETERMINATION
MPC + MPS =1; MPC =1 — MPS; MPS =1 — MPC; MPC = AC/AY; MPS = AS/AY; APC = C/Y;
APS = S/Y; APC + APS = 1; APC = 1-APS; APS =1 - APC
Investment Multiplier(K) = AY/Al; K = 1/1 — MPC; K = 1/MPS;
CONSUMPTION FUNCTION: C = Co + bY, where C is Consumption expenditure; CO =

Autonomous Consumption ie Consumption at zero level of income; ‘b’ is slope of consumption
curve that is constant which is equal to AC/AY ie MPC; Y is National Income

SAVING FUNCTION: S =- Co + (1-b)Y, where S is Savings, - Co is autonomous saving, (1-b)
is MPS ie slope of saving curve, Y is National Income
UNIT VIII: GOVERNMENT BUDGET & ECONOMY
Revenue deficit = Revenue expenditure > Revenue Receipts
Fiscal Deficit = Total Expenditure — Total Receipt (Net of Borrowings)

Primary Deficit = Fiscal Deficit — Interest Payments
UNIT IX: BALANCE OF PAYMENTS

Balance of Trade = Value of Exports — Value of Imports Surplus
BOP = International Receipts > International Payments Deficit BOP
= International Receipts < International Payments



MACRO ECONOMICS: UNIT VII: THEORY OF INCOME DETERMINATION
Fig: Consumption Function The above figure shows the consumption
v APC=1 function. Income curve is a 450 line
APC=1 E, B 'c)riginatmg from the point fo origin. The
E Consumption curve is constantly rising
from the poinl 'a' on Lhe J-axis which
indicates the rise in consumption due to
rise in income. The point 'a' vefers to
a autonomous consumption i.e. the
+5° consumptiion expenditure incurred when
o o ARG Lhe income curve inlersecls consumplion
=E at the point E which is veferved to Breeak-

even point.

APC=1
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s %% Income

Kevynesian Theory of Income & Employment

g o In the first figure we see that AS function

/ AD-CH is 450 line from the origin which is

% / € intersected by AD at point k. This is the

AdS / point where the economy is in equilibrivm

/r/ because the AD = AS. In this siluation, Lhe

Lz~ total quantity of commodities produced is

7 X _purchased and there is no burden of excess

supply or unsold stocks, and the (oss of

demand. The corresponding to

g investmenl. This is shown in lhe nexl

figure where saving curve at point Fr

S&I / lavel of income & employiment of the
economy.

Inthis context the saving & investment
arve planned (or ex-ante) saving &
investment. Thus, the economy attains
equilibrivin when AD=AS & § = I at OY1
level which is underemployment lavel.
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MACRO ECONOMICS (PART - 1)

NATIONAL INCOME ACCOUNTING

KEY CONCEPT

Macro Economics: - It is that branch of economics which studies the aggregates of an
economy or the larger units of an economy. The main objective of Macroeconomic study is
'how the income & employment of an economy is determined?' This branch of economics
deals with the fuller utilization of resources.

National Income: - It can be defined as the net value of all final goods & services produced
by the normal residents in the 'domestic territory of a country in an accounting year (NVAkc),
and adding net factor income from abroad (NFIA).NI= NVA:c + NFIA

Depreciation or Consumption of Fixed Capital (CFC): - It refers to the loss of value of
fixed assets due to normal wear & tear.

Normal Residents: -This refers to those individuals & institutions who normally reside in a
country for more than one year, and whose centre of economic interest lies in that country.
Economic Territory: - Besides the landmass lying within the political frontier of a country,
includes 200 nautical miles of the sea from the front.

Net Indirect Tax: - It refers to the difference between Indirect Tax paid by the enterprises to
the Govt. & the Subsidies paid by the Govt. to some of the enterprises.

Operating Surplus (OS): Operating Surplus is defined as the sum of Income from property
& Income from entrepreneurship.

Mixed Income of Self Employed: - it refers to the profits & dividends earned by the
unincorporated & household enterprises, & the income earned by the self-employed viz.
Doctors, Architects, Engineers, Professors, Teachers & other professionals.

Private income: - private income refers to the income which accrues to private sector from
all sources within and outside the country.

Personal income: - personal income is the sum total of all the incomes that are actually
received by households from all the sources.

Personal disposal income: - it refers to that part of personal income which is actually available
at the disposal of households. It is that part of personal income which is left with the households
after making payments of taxes, fee and other miscellaneous receipts of the government.

National disposable income: - national disposal income refers to the income which is available
to the whole country for disposal. It includes both factors income and transfer income.




INCOME METHOD

Wages and
Salaries in the
form of cash and Compensation of
kind
Employees
Emplayer’s
Contribution to + Rent
Social Security Operating Royalty
h
Surplus Interest Corporate Tax
+ Profit + Dividends+
. Undistributed
Mixed Income of profits
Self-employed
NDPgc
+ NFIFA
NNP
EXPENDITURE METHOD :
Expenditure aon
Durable and non i i .
_Durable Goods Private Final Consumption
Expenditure
Expenditure on +
<
gons_umer Government Final Consumption
ervices i
Expenditure Gross Domestic Fixed Capital
Net Domestic + Formation
Capital P Gross Domestic Capital Change in stock
Formation - Formation
Net Acquisition of Valuables
+ +
Depreciation Net Exports » Exports - Imports
GDPwp
- Depreciation
NDPwp
= Net Indirect Taxes
NDPec
+ NFIFA

NNPrc




Personal Final Consumption Expenditure

+

Government Final Consumption Expenditure

-+
Investment Expenditure

+

_. Business Fixed Investment

-. Inventory Investment

| . Residential Construction
Investment

_. Public Investment

Net Exports

GDPwp

- Depreciation

NDPMP

- NetlIndirect Taxes

NDPFc
+ NFIFA

NNPec

Exports - Imports

Value of Output
in Primary Sector
- Intermediate
Consumption

Value-Added By Primary Sector
+
Value-Added by Secondary Sector
+
Value-Added by Tertiary Sector

GDPMP
Depreciation

NDPMP
- NetIndirectTaxes

NDPFc
+ NFIFA

NNPrc




DETERMINATION OF INCOME
AND EMPLOYMENT
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Domestic Product
or
Domestic income(NDP.)

Income from Domestic Product Accruing ]

Income from Domestic Product Accruing
to Public Sector

¢ [ : |
| NFIA +
| Income from Property and
entrepreneurship accruing
I ETR I to Government
¢ administrative departments

NCTP o+ l (PE)

v

| Interest on naticnal debt = ]

v

[ Private Income - ]

v

I Undistributed profits - I

v

[ Corporate tax = |

v

I Personal Income - ]

v

I Direct Taxes - I

v

| Miscellaneous receipts of the govt.

to Private Sector

Savings or Surplus of Non-
departmental Enterprises
(NDS)

Govt

v

| Personal Disposable Income

VERY SHORT ANSWER QUESTIONS
Q. Define the term Macro Economics.

Ans : It is that branch of economics which studies the aggregates of an economy or the larger
units of an economy. The main objective of Macroeconomic study is ‘how the income &
employment of an economy is determined?' This branch of economics deals with the
fuller utilization of resources.

Q. Define the term National Income.
Ans : It can be defined as the net value of all final goods & services produced by the normal
residents in the domestic territory of a country in an accounting year (NVArc), and adding
net factor income from abroad (NFIA).NI= NVAc + NFIA




Q. Who are Normal Residents?

Ans : This refers to those individuals & institutions who normally reside in a country for more
than one year, and whose centre of economic interest lies in that country.
Q. Briefly explain the concept of Depreciation or Consumption of Fixed Capital (CFC).

ANs : It refers to the loss of value of fixed assets due to normal wear & tear.

SHORT ANSWER QUESTIONS
Q. Briefly explain the concept of Net Indirect Tax.

Ans : It refers to the difference between Indirect Tax paid by the enterprises to the Govt. & the
Subsidies paid by the Govt. to some of the enterprises. This concept is used to obtain the
national income at factor cost or factor prices. The NIT is deducted from market price
(MP) to get factor cost (FC).Indirect Tax is the amount of burden whose impact falls on
one person or a group and the incidence falls on other person or group. Subsidies refer to
the financial assistance or aid provided by the state to the weak & sick units.

Q. Define the term Net Factor Income from Abroad & explain its components.

Ans : Itis defined as the difference between income earned by the resident households in abroad
& the same earned by the foreign residents in a resident country in an accounting year. In
other words, it is the income earned from work, property & entrepreneurship by the
resident household of a particular country in the ROW ’'less' the same earned by the
residents of ROW in a resident country in an year.

Components of NFIA: It contains three elements viz:

i) Net Compensation of Employees: This refers to the income from work earned by
the resident workers in the ROW 'less' the same earned by the resident workers of
ROW in a resident country.

i) Net Operating Surplus: This refers to the difference between the income from
property & entrepreneurship earned by the residents in ROW & the same earned by
the foreign residents in a resident country.

iii) Net Retained Earnings of Resident Companies in Abroad: It is the difference
between the retained earnings of the resident companies abroad & the same of the
foreign companies in a resident country.

Q. Define the following Concepts of Value of Output.
Ans : 1. Intermediate Cost / Consumption is defined as the expenditure incurred on raw
materials, fuel, semi-finished goods & other inputs by the firms to produce final products.

It is the sum of purchase of raw materials & fuel purchased in domestic market & abroad

(Import of raw materials). This amount has to be deducted from GVO to obtain GDPwe, as

the intermediate expenditure is not estimated in the estimation of NI to avoid the problem
of double counting.

2. Final sales are the sum of domestic sales & sales made in abroad (Exports) &
production for self-consumption.

3. Change in Stock is defined as the difference between Closing Stock & Opening
Stock.



Closing stock is the stock of raw materials, semi-finished goods, unsold finished goods
been held by the enterprises; strategic materials &food grains held by the govt. agencies;
& the livestock held by the animal husbandry, been estimated in the end of an accounting
year i.e. 31* of March of a year.

Opening stock is the same estimated in the beginning on an accounting year i.e. 1* of
April of a year.

LONG ANSWER QUESTIONS
. Explain the methods of measuring NI. Also state their precautions.

Ans : There are three methods to measure NI which is based on the principle of equality

between income, expenditure & production. These methods are i) Value Added or

Product or Output method; ii) Income method; iii) Expenditure or Commodity Flow
method.

1. Value Added Method: By value added we mean the money value of final products
produced by the normal residents in the domestic territory of a country. It is the
difference between Value of Output & Intermediate Cost. Thus, VA=VO - IC

This method is based on the production of the country in a year. The following steps can
be enumerated to explain this method:

i) Firstly we identify the production units & classify them into three economic sectors
viz. primary, secondary & tertiary sectors.

i) Then we estimate the money value of total production in each & every units, we get
GVO.

iii) Thirdly, we calculate the IC in every unit & deduct IC from VO to obtain VA, &
after summing the VA of all the units, we get GVAwr / GDPwp.

iv) Next we deduct CFC & NIT from GVAwre, we get NVAec.
v) Finally, we add NFIA to NVArc to get NI/NNP-rc.
Precautions: - The following precautions are required while using this method, viz.

i) The value of intermediate goods should not be included, rather the value of only the
final products to be included. Otherwise, the problem of double counting may arise.

i) The value of second hand goods is not to be included since the value of this goods
have been already valuated in the NI of those years when these goods have been
manufactured & sold.

iii) The value of illegal goods to be excluded because these goods have no legal sanction
or authority to be produced or sold.

iv) The value of leisure items & non market goods not to be included because it
is difficult to keep accountability of these goods, & moreover, these goods are
produced with not the motive of earning income.

v) The value of transfer payments are to be excluded because these transactions do not
contribute in the flow of income & product, rather these are transfer of ownerships.



2. Income Method: According to this method, the factor incomes have to be estimated,

& then, after adding the total factor incomes generated in the domestic territory, we
get domestic income. The domestic income is then has to be added to NFIA, we
obtain NI. The following steps can be followed to measure NI by this method:

i) Firstly, the factor incomes have to be identified & then classify them into CE, OS &
MISE.

i) Then we add the total factor incomes generated in the domestic territory i.e. CE + OS
+ MISE, we get domestic income (NVAk).

iii) Finally we add the domestic income to the NFIA, we get NI.

Precautions: The following precautions have to be considered while measuring NI by

this method:

a) The transfer incomes are not to be included because these transactions do not
contribute to the flow of national production. For e.g., tax, gifts, donations,
scholarships etc.

b) The incomes derived from illegal sources are not to be included since the illegal
activities are not backed by the legal sanction. For e.g., gambling, smuggling, theft &
loot etc.

c) The incomes received after selling second hand goods are not to be included but
the commission earned by the broker is to be included because it is a factor income.

d) The income derived from leisure time activities is not to be included because it is
difficult to determine the actual price of leisure time goods.

e) The income earned by selling shares is also not to be included since this is
considered as the transfer income because these transactions are mere transfer of
ownership of assets.

3. Expenditure Method: According to this method, NI is evaluated by estimating the
final expenditure incurred by different economic units' viz. household, govt. & the
enterprises. The following steps are to be followed:

i) At first, the sources of final expenditure have to identified & classify them into
Private Final Consumption Expenditure (PFCE), Govt. Final Consumption
Expenditure (GFCE), Gross Domestic Capital Formation (GDCF),& Net Exports (X-
M).

i) Then we estimate the above four components of final expenditure incurred in the
domestic territory in an year & add all the four components, we get GDPwp.

iii) Next, we deduct CFC & NIT from GDPwp, we get NDPrc.
iv) Finally, we add NFIA to NDPkc, we get NI.
Precautions: The following precautions are to be taken:

a). The expenditure on intermediate goods are not to be estimated, otherwise it may
lead to problem of double counting. We must make sure that we are not including the
intermediate expenditure.



b). The expenditure on second hand goods & scraps is not to be included because it is
already been included in the year when these goods have been manufactured, but the
expenditure made on broker's service as commission is to be included.

c). The expenditure on transfer payments is not to be included because this
expenditure does not lead to production of goods & services in the economy.

d). The expenditure on illegal goods is also not to be included because these goods are
not been legally sanctioned.

e). The expenditure on products produced through leisure time activities & non
market activities is not to be included.

Q. Define the term Double counting with the help of an example.

Ans : It refers to the situation when the value of a good is estimated more than once. It is a
problem which leads to overestimation of NI. The problem of double counting arises
when the value of intermediate goods is included or the value of second hand goods is
estimated. The problem of double counting can be avoided by adopting any of the two
approaches viz. Final Goods & Value Added approach. In case of final goods approach it
is difficult to differentiate between intermediate good & final good. As there are some
goods which are final to some & intermediate to some. For example, pencil to a student is
final good but to an artist it is simply an intermediate good. Thus, it is commendable to
use value added approach to estimate the National income. This can help us to avoid
double counting in the estimation of NI.

We can understand the concept of double counting with the help of following illustration:

Stages of production| Value of inputs | Value of output Value Added
Farmer-Wheat 500 500

Flour Mill-Flour 500 700 200
Bakery-Bread 700 1000 300
Distributer 1000 1200 200

Total 2200 3400 1200

From the above table, we see that, suppose we need to estimate the value of production of
bread, we have to estimate the value added by different producers but not the value of
output which amounts to Rs.3400. If we include this value then the value of wheat is been
valuated more than once say 4 times which gives overestimated value of the wheat
produced. So to avoid this kind of situation, we have to calculate the value added of the
bread at every stage of its production which gives a precise and correct picture about the
production of bread in the economy.

Q. Explain the related aggregates of National Income.
Ans : There are six related aggregates of NI as mentioned above in the chart.

1. NDPfc accruing to private sector/Domestic product accruing to private
sector/Share of private sector in domestic income refers to that part of total
domestic income which accrues to general public viz. household & firms. It is



2.

obtained by deducting the share of Govt. in national income also referred to as
NDPfc accruing to public sector from the NDPfc.
NDPfc accruing to private sector= NDPfc — NDPfc accruing to Gowt.

NDPfc accruing to Public sector = Profits & Dividend accrued to Departmental
enterprises + Savings of Non Departmental enterprises.

Private income refers to that part of domestic income which is accrued to all the
residents from all the sources in a year. Thus, Private income = NDPfc + NFIA + Net
Current Transfers From Abroad + National Debt Interest + Current transfers from
Govt.

Q. How private income is different from National Income?

Private Income is the income generated from all sources ie it includes both factor &
transfer incomes, while NI includes only factor incomes. Whereas, both includes NFIA.
3.

Personal income refers to that part of private income which is accrued to only the
household, & it can be obtained by deducting the income of firms ie corporation tax
& retained earnings of private corporate sector.

Personal Income = Private Income — Corporation Tax — Undistributed profits
Personal disposable income refers to that part of personal income which is actually
received by the household for disposal in consumption & savings. It is also equal to
Household final consumption expenditure & household savings. Thus, Disposable
income= Personal Income — Personal Tax — Miscellaneous Receipts of the Govt.
administrative departments.

Net National Disposable Income (NNDI) refers to that part of National
Income which is available with the nation for disposal. Thus,

NNDI = NNPfc+Net Indirect Tax+Net current transfers from abroad

Gross National Disposable Income is the national disposable income including
depreciation. Thus,

GNDI = GNPmp + NCTFA or NNPfc — depreciation + NIT + NCTFA

Q. Differentiate between Real & Nominal GDP.
Ans : Nominal GDP is estimated at current price ie the market values of the prevailing year,

while Real GDP is estimated at constant(base)price. Nominal GDP is helpful to measure
the price fluctuations while Real GDP helps to measure & compare the economic growth
& performance. The nominal GDP is so called because it reflects the growth of output in

monetary terms as it includes price effect, whereas real GDP reflect the growth of output
in real/physical terms & does not include the price effect.

Q. Which one is a better indicator of economic growth & why?

Ans :

Real GDP as it does not include the price effect on the growth of output.

Q. What is meant by economic welfare? What is its indicator?

Ans : The term welfare means the sense of wellbeing. The economic welfare means the sense of

wellbeing which are affected by the non-economic factors viz. NI, consumption
expenditure etc. which can be expressed in monetary terms. Wellbeing of the people is



also affected by various non-economic factors viz. pollution, liberty etc. The economic
welfare is indicated by Per Capita Real GDP.

Q. Explain the limitations of Per Capita Real GDP as Indicator of Economic Welfare.
OR “The economic growth of a country is rising but most of the people are still poor
& there is a huge environmental pollution.” Explain.

It has been found in many economies that despite of a faster growth in GDP, there are

many such problems still exist in those countries like starvation, corruption,
environmental degradation & ecological imbalance etc. This reflects the fact that Real Per
Capita GDP has certain limitations as a good indicator of economic welfare. These are:

1. The growth in GDP does not reflect the fact about the distribution of income
among the people. It may so happen that few of the individuals are becoming richer
while the rest are remaining poorers. This leads to widening of gap between the rich
& poors. This finally hampers the economic growth & development.

2. The composition of goods & services is not reflected in the growth of GDP. There
may be rise in GDP but it is not certain that what kind of products have shown rise in
production, whether war time goods or peace time goods, harmful products like
liguor & tobacco or useful products like food grains etc. The economic welfare do
not depends upon only the volume of production but also its composition. But the
irony is that GDP reflects only the money value of volume but not the composition.

3. Non-monetary transactions: viz services of housewives & other members
rendered to the other members of the family etc. are not estimated in GDP due to
lack of adequate data & difficulty in their valuation. Whereas, these services
contribute to economic welfare in many ways, & thus it remains underestimated.

4. The Externalities are not taken into account while estimating GDP. The
economic activities leads to various kinds of benefits as well as harms to human
being. The benefits are referred to as positive externalities while the harms are
referred to as negative externalities. For example, construction of a highway or
flyover reduces transport costs & journey time to those who have not contributed
towards the cost of construction. This is not reflected in GDP, & thus welfare is
underestimated. Similarly, the negative externality is also associated viz. pollution &
global warming etc. The construction of flyover & highways do not pay anything for
this harm caused to the people of that vicinity. Here, welfare is less than what is
indicated by GDP.

Q. How Real GDP is derived?
Ans : Real GDP = Nominal GDP/Price Index X 100
Q. Explain the circular flow of Income & Product (two sector model).

Ans : Circular flow refers to the cyclical transactions of income & expenditure (money flow) &
goods & services (real flow) among the economic sectors viz. household, enterprises,
Govt. & foreign sector.

Q. How are the following treated while estimating private final consumption
expenditure Give reasons for your answer.
Ans : 1. Exports; 2. Direct purchases made abroad by resident household; 3. Final consumption
expenditure of non-profit institutions serving households; 4. Change in stocks.



Ans: 1. Exports will not be included in private final consumption expenditure as exports do not

reflect consumption expenditure by residents. 2. It will be included in private final
consumption expenditure as such purchases are meant for consumption. 3. It will be
included in private final consumption expenditure as non-profit institutions serving
households are a component of household sector. 4. It will not be included in private final
consumption expenditure as it is a component of capital formation.

Q. Differentiate between stock & flow.

Ans : Stock refers to those variables which are measurable at a given point of time while flow

ADnS.

Ans.

ADnS.

ADnS.

ADnS.

refers to those variables which are measurable during a given a period of time. In this
way, stock is static while flow is dynamic. Stock has no time dimension while flow has.
For eg. Wealth is stock while income is flow, capital is stock while capital formation is
flow.

Multiple Choice Questions
In the production of sugar, sugarcane is

(a) a final good (b) a capital good
(c) an intermediate good (d) none of these
(c)

Capital goods are those goods

(@) which are used in the production process for several years;
(b) which are used in the production process for few years;
(c) which involve depreciation losses;

(d) both (a) and (b)

(d)

Which of the following leads to depreciation?

(a) Normal wear and tear (b) Damages due to floods
(c) Damages due to market-crash (d) None of these

(a)

‘Income of the family” is the example of which variable?

(a) Stock (b) Flow

(c) Both stock and flow (d) Neither stock nor flow
(b)

A quantity measured per unit of time period is known as

(a) Stock variable (b) flow variable

(c) inventory (d) none of these

(b)



6. Which one of the following is a flow variable?

(a) Consumption (b) Wealth
(c) Quantity of money (d) None of these
Ans. ()

7. GNP at Market Price is measured as:
(a) GDP at Market Price — Depreciation;
(b) GDP at Market Price + Net Factor Income from Abroad
(c) GDP at Market Price + Subsidies;
(d) NDP at Factor Cost + Net Factor Income from Abroad
Ans. (b)

SHORT ANSWER QUESTIONS
1. Define intermediate goods.

Ans : Intermediate goods are those goods which are within the boundary line of production and
not ready for use by their final users. These goods are purchase for further sale or are to
be use as raw material by the producers.

2. What is meant by producer goods?
Ans. Producer goods are those goods which are used for further production. These may be used

either as raw material(like wood used in making chair) or as fixed assets (like a tractor in
farming).

3. What is meant by capital goods?
Ans. Capital goods are those goods which are used in the process of production for several
years and which are of high value. These goods are fixed assets of the producers.
4. Whatis fixed investment?
Ans. Fixed investment refers to increase in the stock of fixed assets or capital goods (like plant
and machinery) of the producers during an accounting year.
5. What do you mean by inventory investment?

Ans. Change in inventory stock during the year is called inventory investment of the producer.
6. What is meant by consumption of fixed capital?

Ans. Consumption of fixed capital or depreciation refers to loss of value of fixed assets in use
on account of: 1. Normal wear and tear; 2. Normal rate of accidental damage, and 3.
Expected or foreseen obsolescence.

7. Define depreciation reserve fund?
Ans. Depreciation reserve fund is a provision of funds to cope with depreciation losses. These

fund are used for the replacement of fixed assets when these are worm-out or when these
become obsolete/outdated.



1. Define real flow.

Ans. Real flow refers to the flow of factor services from the household sector to the producing
and the corresponding flow of goods and services from the producing sector to the
household sector.

2. Define money flow.

Ans. Money flow refers to the flow of money (in term of receipts and payment) across different
sectors of the economy. It is called money flow because it involves the flow of money
value from one sector to the other. Thus, producers make sector payment to the

households and household make payment to the producers (for the purchase of goods and
services) in term of money.

3. Should purchase of wheat in the wholesale market be treated as the purchase of final
goods?

Ans. Purchase of wheat in the wholesale market is often done by the trader. Wheat is a

consumption goods and traders are not the final users of wheat. Therefore, purchase of

wheat in the wholesale market is to be treated as the purchase of intermediate goods.

However, sometimes the households buy wheat in bulk from wholesale market. In
such situation, purchase of wheat should be treated as purchase of final good.

4. What is national debt interest?
Ans. National debt interest refers to the interest payment accruing to residents of the country on

account of borrowings by the govt. The government borrows money from the people (by
issuing bond like National Saving Certificates in India).

5. What is meant by transfer payment?
Ans. Transfer payment (or transfer expenditure) are all those unilateral payment corresponding
to which there is no value addition in the economy.
6. What is meant by nominal GDP?
Ans. Nominal GDP refers to market value of the final goods and services produced
Q. How will you treat the following in the calculation of gross domestic product of
India? Give reasons for your answers.
(i) Profitearned by a branch of foreign Bank in India.

(i) Salaries of Indian employees working in embassy of Japan in India
(iii)  Salaries of residents of Japan working in Indian embassy of Japan

ANS. (i)  Yes, it will be included in the gross domestic product of India as profits are earned
within the domestic territory of India.
(ii) No, it will be not included in the gross domestic product of the India as the embassy
of japan is not the part of domestic territory of India.
(iii) Yes, it will be included in the gross domestic product of India as the India embassy is
the part of domestic territory of India.



Ans:

. Classify the following expenditures as intermediates consumption expenditures

and finals consumption expenditures.
(i) Expenditure on research and development by TATA on Nano car.
(ii) Insurance premium paid by a firm to an insurance company.
(iii)  Insurance premium paid by households to an insurance company.

(iv)Expenditure on repairs and maintenance of plant and machinery.

(v) Expenditure incurred by a firm on purchase of equipment.
(vi)Advertising expenditure incurred by Airtel on promotion of its product.
(vii) Business expenses of employees on tour and entertainment.

Intermediates consumption expenditure: (i), (ii), (iv), (vi), (vii); final consumption

expenditure: (iii), (v).

TRUE & FALSE

Nominal GDP can never be less than real GDP.

FALSE: nominal GDP can be less than the real GDP, if price in the current year are less

than the price in the base year.

. Good produced for self-consumption will be included in national income.

TRUE: such goods contribute to the current output and their imputed value will be
included in national income.

Increase in stock of goods held by a consumer will contribute to capital formation.
FALSE: any increase in goods of stock held by consumers does not contribute to capital
formation as it is assumed that such goods are consumed, the moment are purchased.
Gross domestic capital formation is always greater than gross fixed capital
formation.

FALSE: gross domestic capital formation can be less than gross fixed capital formation if
change in stock is negative.

Productions of services for self-consumption are not included in national income.
TRUE: Such services are not included in national income as it is difficult to ascertain
their market value and they are not rendered for earning income.

. From the information given below, calculate:1.Value added by firm Aand firm B; 2.

GDPmp;3. NVAfc

Particulars incrores
I. Sales by firm B to general government 100
ii. Sales by firm A 500
iii.  Sales by firm B to households 350
iv.  Change in stock of firm A 20
V. Closing stock of firm B 40
vi.  Opening stock of firm B 30
vii.  Purchases by firm A 320
viii. Indirect Taxes paid by both the firms 75
iXx.  Consumption of fixed capital 120

X. Sales by firm Ato B 200




Solution: Value added by firm A
= Sales by firm A+ Change in stock of firm A— Purchases by firm A from firm C
= 500 + 20 - 320; = 200 crores Answer

Value added by firm B=Sales by firm B to general government + sales by firm B to
households + (Closing stock of firm B — Opening stock of firm B) — Purchases by firm B
from firm A

=100 + 350 + (40-30) -200; = 260 crores Answer

Gross Domestic product at market price

= value added by firm A + Value added by firm B; = 200 + 260; = 460 crores Answer
Net value added at factor cost

GDPmp — CFC - Indirect Taxes paid by both the firms; = 460 — 120 -75; = 265 crores
Answer

Calculate 'Sales' from the following data:

Particulars Rs. lakhs

i. Net value added at factor cost 300
ii. Intermediate consumption 200
iii. Indirect tax 20
iv. Depreciation 30
v. Change in stocks (-) 50

Solution:

Sales= Net value added at factor cost — Change in stocks + Intermediate consumption +
depreciation + Indirect tax; =300 — (-) 50 + 200 + 30 + 20; =600 lakhs Answer

Firm A buys from X inputs worth Rs.500 crores and sells to firm B goodsworth Rs.1000
crores and to firm C goods worth Rs.700 crores. Firm B buys from Y inputs worth Rs.200
crores and and sells to firm C goods worth Rs.1500 crores and finished goods worth
Rs.2000 crores to households. Firm C buys from Z inputs worth Rs.150 crores and sells
finished goods worth Rs.4,150 crores to households. Calculate value added by firms

A, B and C and GDPwp
Soluation:

Firm {Value of output (VO) Intermediate consumption | Value Added
(IC) (VA=VO -IC)
A Sales to B: 1,000 Purchase from X: 500 1,200
+SalestoC. 700
B SalestoC: 1,500 Purchase from A: 1,000
+ Sales to households: 2,000 |+ Purchase from Y: 200 2,300
C Salesto households: 4,150 |Purchase from A: 700
+ Purchase from B: 1,500
+ Purchase from Z: 150 1,800

Value added by firm A= GVAMP of A

= Rs.1,200 crores




Value added by firm B = GVAMP of B = Rs.2,300 crores
Value added by firm C = GVAMP of C = Rs.1,800 crores
GDPMP = GDAMP = 1,200 + 2,300 + 1,800 = Rs.5,300 crores

Calculate National Income by Income and Expenditure method.

Particulars in crores

i. Final Consumption Expenditure

Private Sector 350

Government Sector 100
ii. Mixed income of self-employed 35
iii.  Gross domestic fixed capital formation 70
iv.  Opening stock 15
V. Compensation of employees 250
vi.  Closing stock 25
vii.  Imports 20
viii. Rent 75
iXx.  Consumption of fixed capital 10
X. Net indirect taxes 25
xi.  Interest 25
xii.  Net factor income from abroad -5
xiii. Exports 10
Xiv. Profit 100
Solution:

National Income by Income method

= Mixed income of self-employed + Compensation of employees + Rent + Interest
+ Profit + Net factor income from abroad
= 35+ 250+ 75+ 25+ 100 + (-5)= 480 crores

National income by Expenditure method

= Final consumption expenditure of Private sector + Final consumption expenditure
of government sector + Gross domestic fixed capital formation + (Closing stock —
Opening stock ) + Net Exports — Consumption of fixed capital + Net Factor Income

from abroad - Net Indirect Tax
=350 + 100 + 70 + (25 - 15) + (10 - 20) -10 + (-5) -25; = 480 crores



From the following data, calculate (a) Gross Domestic Product at Factor Cost and (b)
Factor Income To Abroad:

Particulars incrores

i. Compensation of employees 800
ii. Profits 200
iii.  Dividends 50
iv.  Gross national product at market price 1,400
V. Rent 150
vi.  Interest 100
vii.  Gross domestic capital formation 300
viii. Net fixed capital formation 200
iXx.  Change in stock 50
X. Factor income from abroad 60
Xi.  Netindirect taxes 120
Solution:

(@) Gross Domestic Product at Factor Cost
= Compensation of employees + Profit + Rent + Interest + Depreciation*
= 800+ 200 + 150 + 100 + 50; =1,300 crores

(b) Factor Income To Abroad

= Factor income from abroad - { Gross national product at market price — (Gross
Domestic Product at Factor Cost + Net indirect taxes)}
= 60-{1,400 - (1,300 + 120)}; = 80 crores

. The net domestic product at market price of an economy is Rs 4,500 CRORES. The

capital stock is worth Rs 4,000 CRORES and it depreciates at the rate of 10% per annum.
Indirect taxes amount to Rs 150 CRORES, subsidies amount to Rs 20 CRORES, factor
income from the rest of the world is Rs 400 CRORES and to rest of the world is Rs 600
CRORES. Find out the gross national product at factor cost.

Solution: Gross National product at Factor Cost (GNP FC)
Net Domestic Product at Market price + Depreciation — Net Indirect
Net Factor income from abroad

4,500+ 10% of 4,000 - (150-20) + (400-600)

4,500 + 400 - 130 — 200; = Rs. 4,750 CRORES



Q2.

Calculate Private Income.

PARTICULARS RS IN CRORES

(1) | Netdomestic product at factor cost

(@) Private sector 1,200

(b) Government sectors 400
(2)| Netcurrent transfers from the rest of the world 200
(3)| Current transfer from Government 100
(4)| Interest on national debt 500
(5)| Net factor income from abroad 50

Solution: = Net domestic Product at Factor cost Private Sector + Net factors

income from Abroad+ Net current transfer from the rest of the world + Current

transfer from Government+ Interest on national debt
= 1,200+50+200+100+500 = RS 2,050 CRORES

Q. Calculate from the following data: (a) Net National Disposal Income ;( b)
Private Income; (c) Personal Disposal Income.

PARTICULARS RS IN CRORES

(1) | National income 800
(2) | Indirect taxes 70
(3) [ Subsidies 10
(4) | Saving of non-departmental enterprises 30
(5) | National debt interest 50
(6) | Net factor income from abroad (-)20
(7) | Consumption of fixed capital 40
(8) | Current transfer from the rest of the world 45
(9) [ Income from property and entrepreneurship accruing to

government administrative departments 60
(10) | Direct taxes paid by Households 40
(11) | Profits 100
(12) | Saving of private corporate sector net of retained earnings of

foreign companies 80
(13) | Current transfer from government administrative departments 90
(14) | Corporation tax 25

Solution:
(A) Net National Disposal Income = (1) + {(2) - (3)}+ (4); = 800 + {70-10}+ 45=RS
905 Cr

(B) Private income = (1) — (4) — (9) + (5) + (13) + (8); =800 — 30 — 60 + 50 + 90 + 45;

RS 895 CR

(C) Personal Disposal Income = Private income — (12) — (14) — (10)=895 — 80 — 25 - 40

RS 750 CR



Q. Calculate the Gross Domestic Product at Market Price.

PARTICULARS RS IN CRORES

(1) | Net Factors income from abroad 300
(2) | Subsidies 350
(3) | Saving of Private Corporate sector 940
(4) | Income from entrepreneurship and property accruing to

government administrative department 2,100
(5) | Current transfer from rest of the world 1,885
(6) | Corporation tax 1,200
(7) | Personal Savings 15,500
(8) | Interest on national debt 1,600
(9) | Net indirect taxes 12,065
(10) | Net Private donation from abroad 150
(11) | Personal final consumption expenditure 56,565
(12) | Consumption of fixed capital 7,050
(13) | Direct taxes paid by households 2,000
(14) | Current transfers from government 2,500

Solution: Gross Domestic Product at Market Price
= @+ (9+13)+B)+B)-(B)-(14) +(4) - (1) +(12) +(9)

= 15,500 + 56,565 +2,000 +1200+940 - 1,885 — 1,600 — 2,500+2,100 —300+7,050+12,065 = RS

91,135 CR
Q. Calculate NNP at MP and Personal Disposable Income.
PARTICULARS RS IN CRORES
(1) | Net Domestic Product at factor cost 15,480
(2) | Income from domestic product accruing to government 140
(3) | National debt interest 170
(4) | Transfers payments by government 240
(5) | Net private donations from abroad 30
(6) | Netearned income from abroad 80
(7) | Indirect taxes 1,330
(8) | Subsidies 100
(9) | Direct taxes on Non-corporate sector 335
(10) | Tax on corporate profits 222
(11) | Undistributed profits of corporation 105

Solution: NNP at MP= (1) + {(7) - (8)}+ (6); = 15,480 — {1,330 — 100}+ 80; = RS 16,790

CRORES

Personal Disposable Income=NDPFC - (2) + (3) + (4) + (5) + (6) - (10) - (11) - (9)
=15,480 — 140 + 170 + 240 + 30 + 80 — 222 - 105 - 335; = RS 15,198 CRORES



Q. Whether the following items will be included in National Income? Give reasons for
your answer.

Payment of electricity bill by a factory.

Dividend on shares.

Increase in stock of consumer goods with households.
Bus fare of a passenger.

Gains from sale of shares.

Rent earned by Reliance from its building in USA.
Gifts from Abroad.

Retained earnings of resident companies from abroad.

© o N o a B~ wDNhE

Expenses of foreign visitors in India.
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. Gifts to a trust from Japan.

No, it is a part of intermediate consumption expenditure.

Yes, it was, as it is a part of profits.

No, as it is assumed that such goods are consumed, the moment they are purchased.
Yes, it is a part of private final consumption expenditure.

No, as it is a capital gain

Yes, it is a factor income from abroad.

No it is a transfer income,

Yes, it is a factor income from abroad.
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Yes, it is a part of Net exports.
10. No, it is a current transfer from rest of the world

Q. In the determination of social welfare what matter is the quantum of output rather
than the composition of output? Defend or refute.

Ans. The above statement is incorrect. Social welfare depends both on the quantum of output as
well as the composition of the output. If good are produce primarily for richer section of
the society (ignoring the interest of poorer section of the society) social welfare is bound
to remain low even when the quantum of output is rising.

Q. Why are exports included in the estimation of domestic income?
Ans. Export are included in the estimation of domestic income because exports are the parts of

domestically produced goods & services, or because exports are part of a goods &
services produced within the domestic territory of a country.



Q. Why are imports consider as a negative item in the estimation of domestics income?

Ans. Imports are consider as a negative item in the estimation of domestic income because
imports are not an expenditure on the domestic produced goods and services in an
accounting year. It is an expenditure on the goods produced aboard.

Q. Is brokerage paid to real estate agents only on the sale and purchase of new houses
include in the

Ans. No, brokerage paid to real estate agent only on the sale and purchase of new as well as
second — hand house should be included in the estimation of national income.

Q. In the estimation of GDP (using expenditure method), we focus only on expenditure
by the resident of a country. Is it true?

Ans. No, it is not true. In the estimation of GDP we include all expenditure on the domestically
produce goods both by the resident as well nonresidents of a country.



UNIT - VI
MONEY & BANKING
(Marks: 8)

KEY CONCEPTS

Money: - Money is anything that has the general acceptability as a common medium of exchange
& as a common measure of the value of the commaodities.

Barter system: - It refers to the exchange of goods for goods. In other words, it refers to the
direct exchange of goods & services with another.

Money Supply: - It refers to the total stock of money in an economy at any point of time,
held by the general public. M =C + DD

Commercial bank: - A Commercial bank is a financial institution which performs

the function of accepting deposits from the public & advancing loans.

Legal Reserve Ratio: It refers to the minimum portion of total net demand & time deposits of
Commercial Banks which have to be maintained with Central Bank & themselves as cash
liquid assets.

Cash Liquidity Ratio: It refers to that minimum portion of total net deposits of Commercial
Banks which have to be maintained with Central Bank.

Statutory Liquidity Ratio: It refers to that portion of total deposits which have to be
maintained by the Banks themselves in the form of liquid cash assets against the securities of
Govt. & RBI. Repo rate refers to the interest paid by the Commercial Banks to RBI against
the loans & advances taken by them from RBI to meet the short term needs

Reverse Repo Rate refers to the interest received by the Commercial Banks from the Central
banks against the parking of funds by the commercial banks.

Credit Multiplier refers to the amount by which the initial deposit multiplies into a larger
amount of final deposits. It is equal to 1/LRR. Thus, credit multiplier is inverse to LRR.

I MONFEY AND BANKTNG Has genral aceeptability as a common medium
] ol exchange & common measure of Value
I FUNCTIONS [ [ MONEY SUPPLY [ [ COMMERCTAT. BANK l [ CENTRAL BANK ]
PRIMARY || SFCONDARY I\_I:Clu'rcncy with Accepl the -lssue Currency.
GieneralPublic deposils -Govl's Banker,
= -Banker's Bank, Control Credil
Demanded *
- Deposits Of Advance loans
As ?_0011311}01.1 | As a common 1 Gieneralpublic (create credil)
medium of exchange measures of value licld by
Commereial banks - P
Primary Secondary
-store of value, Deposit | | Deposits
-standard of defferred payments, (Depusils account)  [Loan aceount)
-transfer of funds

Reduce LRR _T

v
[Quah‘mi\-eu'ieneran Methods [ [ Qualitative (selective)methods [
v
¥ 1 ¥ ¥ It 3
Change in Bank Open Market Change Regulation of Margin [ MoralSuasion & Dircet Action l Fixation of
Rare Repo rate/ Operations i LRR credit Quota
Reverse Repo rate




. What is Money?

Money is anything that has the general acceptability as a common medium of exchange & as
a common measure of the value of the commodities.
. What is Barter system?

It refers to the exchange of goods for goods. In other words, it refers to the direct exchange
of goods & services with another.

. Define the term Money Supply & state its constituents.

It refers to the total stock of money in an economy at any point of time, held by the general
public i.e. the private individuals and business firms (money is in disposable form). In other
words, it is the amount of money which is in circulation in an economy at a given point of
time. The two constituents of money supply are currency held by the general public &
demand deposits of general public held by the Commercial Banks. Thus, M1 = C + DD+0O

. Define the term Commercial bank.

A Commercial bank is a financial institution which performs the function of accepting
deposits from the public & advancing loans. This banks act as the financial
intermediary between the idle resources & the productive sources of resources.

. What are the different types of deposits held by the Commercial Banks?

a) Current account deposits or Chequeable deposits which are payable on cheques & the
depositors can withdraw their deposits whenever they like. This account is generally
maintained by the traders for day to day transactions. The banks pay no interest on this
deposit.

b) Saving Account deposits are those deposits on which the bank pay interest which is less
than the interest paid on the fixed deposits. The bank imposes some restrictions on their
withdrawal. The purpose of this deposit is to encourage & mobilize the small savings.

c) Fixed or Time Deposits refers to the deposits which are accepted for the specified
period & which are not payable on demand before the expiry of the period. The bank
pay relatively high rate of interest on this deposit.

The variant of this deposit is Recurring Deposit whose purpose is to encourage regular
savings by the people. This deposit is based upon the installment payment for a fixed period
of time on which the interest is paid after maturity of the account.

Define the term Central Bank & explain its functions.

A Central Bank is an apex institution which directs, control, regulates & supervises the
monetary system of a country. Central bank is the monetary authority which leads all
banking & non — banking institutions. The name of the Central bank in India is Reserve
Bank of India (RBI) which is established in 1935.The RBI occupies the highest position in
the money & capital market.

Functions

1. It has the monopoly of issuing currency notes. It has the exclusive right to issue the
currency notes in the country which leads to the uniformity of the currency throughout
the nation. Moreover, this enables it to have a total control over the total money supply
of the country which leads to the strengthening of the monetary policy during the crisis
time.



2. It act as a banker of the govt. as it accepts the deposits of the govt. & makes payment
on behalf of the it, gives financial advices, & advances the loans in the crisis times,
remit the surplus funds of Govt., purchase & sell Govt. securities on its behalf.

3. It acts as a banker's bank in the form of lender of last resort, facilitate clearing house
facilities & remit the surplus funds, supervise the banking activities & regulates credit-
deposits of the Banks. Since RBI is the guardian of all the banks, the banks can get the
benefit of easy & early credit during their financial requirements. As a facilitator of
clearing, the RBI makes early settlement of financial claims & debts of the banks. As a
result, the banks don't face any problem of cash liquidity, & thus they need not to
remain depended on the bank credit or capital funds of the banks. As a regulator &
supervisor, the banks are not in the position of any malpractice & the entire banking
system remains transparent & accountable to public.

4. ltacts as a custodian of gold reserves & the nation's stock of foreign exchange reserve.
The purchase & sale of Gold & foreign exchange at the global level is done by RBI
only. As a custodian, RBI is responsible for maintaining the stock of gold & forex
reserves & the determination of their prices.

5. It acts as a controller of credit which is one of the most important functions. Since it is
an apex institution, therefore can play an effective role to combat or correct the
inflationary or deflationary pressures of an economy. The RBI controls credit by using
Quantitative(General) & Qualitative(Selective) credit control methods. The tools under
quantitative methods are Bank/Repo rate, Reserve repo rate, CRR & SLR, Open market
operations. Under selective methods, RBI use Margin, credit quota & rationing, moral
suasion & direct action etc.

6. It promote the economic growth & development of the country by erecting the financial
institutions in the rural areas, providing direct loans to the farmers, framing the policies
in favour of trade & industry, collect the economic information’s & publish through
its various journals which further helps the govt. & other institutions to adopt the
correct policies etc.

Q. Explain how does a Commercial Bank creates credit(money supply).

Credit creation by the banks is determined by (i) the amount of initial deposits and ii) the
legal reserve ratio (LRR). It is assumed that all the money that goes out of banks is redeposit
into the banks, and LRR consists of CRR & SLR.

A Commercial Bank accepts deposits from general public & create a primary account
deposit. This creates liability for the bank & asset for the depositor. It is also referred to as
active deposit. From the active deposits the banks deduct the legal reserves to be kept in
Central Bank (RBI), & the rest (excess reserves) are used in loans & investment. When a
bank give loans & advances, it creates another deposit known as derivative deposits or
secondary account deposits on the name of debtor. This leads to creation of new primary
account, & thus the new primary deposits keeps on increasing until the credit multiplier
stops working. Greater the LRR, smaller the amount of total final deposits, & vice versa.

An lllustration to explain the process of credit creation:
Let the LRR be 20% and there is a Fresh/Primary/Initial/Deposit Account of Rs 10000. The

banks keep 20% ie Rs 2000 as cash and lend the remaining Rs 8000 to a borrower
by opening a new account, called as Loan/Secondary/Derived Account.



ROUNDS INITIAL DEPOSIT LRR SECONDARY DEPOSIT
1 10000 2000 8000

2 8000 1600 6400

TOTAL 50000 10000 |[40000

Here we assume that all the banking transactions will be through monetary instruments
Vviz cheques etc.

As assumed, the amount of Rs 8000 will come back to the banks as fresh deposit from
which once again the bank will keep 20% ie Rs.1600 as LRR and rest Rs 6400 will be lend
to some other borrower. The bank now creates another secondary account which will once
again become a primary account. This process continues and the money goes on multiplying
till the sum of LRR and the fresh deposit amount is same or the new deposit becomes nil.
Finally, when we add the total money creation, we get Rs 50000 as the total deposit creation.
Total credit creation = Initial deposit X 1/LRR = 10000 X 1/20% = 10000 X 100/20 = Rs
50000

. Define the terms LRR, CRR, SLR, Repo & Reverse Repo rate, Credit Multiplier. Legal
Reserve Ratio: It refers to the minimum portion of total net demand & time deposits of
Commercial Banks which have to be maintained with Central Bank & themselves as cash
liquid assets. There are two legal reserves viz. CRR & SLR.

Cash Liquidity Ratio: It refers to that minimum portion of total net deposits of Commercial
Banks which have to be maintained with Central Bank. During inflation or deflation, the
CRR is regulated by RBI to control inflation or deflation. During inflation, CRR is increased
to restrict the credit by making it dearer, while it is reduced during deflation to expand the
money supply in the economy by making it cheaper.

Statutory Liquidity Ratio: It refers to that portion of total deposits which have to be
maintained by the Banks themselves in the form of liquid cash assets against the securities
of Govt. & RBI.

Repo rate ie Repurchase rate of interest refers to the interest paid by the Commercial
Banks to RBI against the loans & advances taken by them from RBI to meet the short term
needs. By changing Repo rate, RBI can regulate the money supply. It is different to Bank
Rate in a way that Bank rate is charged against the loans taken by commercial banks for
long term needs.

Reverse Repo Rate refers to the interest received by the Commercial Banks from the
Central banks against the parking of funds by the commercial banks. By increasing RRR,
the RBI can encourage the Commercial Banks to park more funds so as to restrict the money
supply in the economy. By reducing RRR, the RBI discourages the parking of funds which
helps to induce more credit in the economy to resolve the issue of deflation.

Credit Multiplier refers to the amount by which the initial deposit multiplies into a larger
amount of final deposits. It is equal to 1/LRR. Thus, credit multiplier is inverse to LRR.



Multiple Choice Questions
Select the correct answer of the following questions:
1. Which of the following is related to barter system of exchange?

a. Double coincidence of wants; b. Common unit of value;
c. Limited exchange; d. Both (a) and (c)
Ans:  (d)
2. Out of the following, which is the primary function of money?
a. Store of value; b. Transfer of value;
c. Measure of value; d. Bases of credit
Ans: (c)
3. Which of the following systems governs note issuing in India?
a. Proportionate system; b. Minimum reserve system;
c. Fixed fiduciary issue system d. Simple deposit system
Ans:  (b)
4. In India, suppliers of money are:
a. Government of the country; b. Banking system of the country;
c. Both (a) and (b); d. None of these
Ans:  (c)
5. Which of the following is not concerned with banking organization?
(a) Bank rate; b. Fiscal deficit;
(c) Credit creation; d. Cash reserve ratio
Ans: (b)

HOTS QUESTIONS
Q. What do you mean by double coincidence of wants?
Ans. Double coincidence of wants means that goods in possession of two different individual
are needed by each other at the same time.
Q. Define credit multiplier.
Ans. Credit multiplier refers to the ratio between change in demand deposit and change in case
reserves of the commercial banks with the RBI.

Credit multiplier = Change in demand deposit of the Commercial banks/ change in cash
reserves of the commercial banks with the RBI

Q. Define margin requirement.

Ans. Margin requirements refer to the difference between market value of the security offered
for loans and the amount banks of loans offered by the commercial banks.



Q.

How is quantitative credit control different from qualitative credit control?

Ans. Quantitative credit control refers to overall credit control in the economy, affecting all

Q.

Ans,

Q.

sectors of the economy equally and without discrimination. Qualitative credit control
refers to selective credit control that focuses on allocation of credit to different sector of
economy. Flow of credit is encouraged to the priority sectors, while it is discouraged to
the non-priority sectors.

How improvement in banking habits of the people pushes up credit availability from
the commercial bank?

When banking habits of the people improve, they star holding less money as cash-in-hand.
Instead more and more money is deposited with the commercial bank. Accordingly, cash
reserves of the commercial bank start rising. Higher cash reserve of the bank enable them
to deposits more funds with the RBI as CRR - deposits. If CRR remains constant higher
CRR- deposits with the RBI gives the commercial bank the legal authority to create more
credit by way of loans/credit. Accordingly, availability of credit from the commercial
bank is increased.

How can 'Jan-Dhan Yojana' used as an instrument to increase supply of money by
the commercial banks?

Ans. A large section of the population in India does not have their bank accounts. 'Jan- Dhan

Q.

Yojana' prompts people to open their bank accounts. When more and more accounts are
open then some of the cash balances with the people (or idle cash lying with the
people) are bound to reach the banking system as cash deposits or primary deposits. This
increase enables commercial banks to increase their cash reserves with the central banks.
If A CR (additional cash reserves with RBI)= Rs10,000 and if CRR=4% then the
additional demand deposit the bank can create = 1/4% * 10,000 = Rs 2,50,000. This is
how 'Jan-Dhan Yojana' may be used as an instrument to increase the supply of money by
the commercial banks.

Why has the government in India failed to combat inflation even when a series of
monetary measures are available in the textbook of macroeconomics?

Ans. Monetary measures of combating/ controlling inflation focus largely on moderating/

Ans.

lowering the demand for goods and services by making the availability of credit costlier
and difficult. It does not address supply side of the problem. While the fact of the matter
is that in India inflation has often been triggered by the low market supplies. Unless
supplies are boosted (particularly the supply of farm output) we shall continue to wrestle
with inflation without training it.

. How in your opinion, credit creation by the commercial banks accelerates the pace

of economic growth? Write two observations.

Following observations may be noted in this regard:

Observation 1: Credit creation accelerates the process of growth by expanding the
availability of credit for purpose of investment.

Observation 2: Credit creation contribute to the process of growth by expanding size of the
market (or aggregate demand), as the availability of credit for the purchase of consumer
durables increases.



Macro Economics
Determination of income & Employment (Marks: 12)

KEY CONCEPTS:

Aggregate Demand (AD)/ Aggregate Expenditure: -It refers to the sum total of demand
made by all the economic units in the economy at a given point of time. It can be also defined
as the total expenditure incurred by the household, government, & enterprises of the
economy at a given point of time.

Marginal Propensity to Consume (MPC): It refers to the ratio of change in consumption
by change in disposable income. The value of MPC always lies between 0 and 1 i.e.
O0<MPC<1. It is obtained by AC/AY

Average Propensity to consume: It refers to the ratio of total consumption by total
disposable income. APC = C/Y

Aggregate Supply: -It refers to the total production of commodities in the economy at a
given point of time which is measured in terms of value added or the total income generated.
AS =Y, therefore, AS=C +S.

Excess demand/infation: -Excess of Money supply due to excess expenditure by the
Government & excess credit creation by the Commercial Banks.

Regulation of Margin Requirements: The margin requirements refers to the difference
between current value of the security offered for loans and the value of loans granted.
Rationing of Credit: The fixation of credit quota for different industries is called as rationing
of credit. In order to restrict the flow of credit for speculative activities in a sector, the
commercial bank will introduce rationing credit.
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Q. What is meant by determination of income & output?

Determination of income, output & employment is one of the core issues of the Macro
Economics. The level of income, output and employment is determined by the Aggregate
demand & Aggregate supply.

Q. Define the term Aggregate Demand (AD)/ Aggregate Expenditure.

It refers to the sum total of demand made by all the economic units in the economy at a
given point of time. It can be also defined as the total expenditure incurred by the
household, government, & enterprises of the economy at a given point of time.

Q. Explain the components of AD.

There are four components of AD viz. Household Consumption demand, Private
Investment demand, Govt. demand, & Net Exports.

1. Household Consumption demand/Consumption expenditure refers to the amount
spent on durable & non-durable commodities by the consumer households at a given
point of time. The consumption expenditure is influenced by the level of income of the
households.

Q. Explain the concept of Consumption Function/ Propensity to consume.

It is an expression which establishes the functional relationship between consumption
expenditure(C) & the level of income(Y). It describes that how the change in the level of
income influence the consumption expenditure of the households. The rise in income
level leads to rise in the consumption expenditure, & vice versa. According to Keynes, the
rise in the level of income result into the rise in consumption expenditure but the rise is
not as much as the rise in income because the rise in income is also accompanied with the
rise in the savings of the households. This is also called as Keynes Psychological law of
Consumption.
The consumption function or propensity to consume is represented by C=f (Y)Or,C=a
+ bY, where, 'C' stands for Consumption expenditure, 'a’ stands for autonomous
consumption i.e. the consumption expenditure when the level of income is zero, 'b" for
slope of the consumption curve, "Y' stands for level of income. The consumption equation
C = a + bY shows the level of consumption for various levels of income. The
consumption curve slopes upward from left to right and it originate from the Y- axis.
Fig: Consumption Function
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Q. Define the term break - even point.

The break-even point is defined as the point at which consumption is equal to income, &
saving is zero.




. Define the term dissaving.

The saving curve SS intersect X-axis at OY level of income. Before this level the saving
is negative, called as dissavings. It is the situation when the consumption is greater than
income. The savings are positive when the consumption is less than income.

. Explain the two types of consumption function or propensity to consume.

i) Marginal Propensity to Consume (MPC): It refers to the ratio of change in
consumption by change in disposable income. The value of MPC always lies between
Oand 1i.e. 0<MPC<L1. It is obtained by AC/AY

i) Average Propensity to consume: It refers to the ratio of total consumption by total
disposable income. APC = C/Y
. Define the term Saving Functi